
Table 147: b(E) × 106 [cm2g−1] for
Dichlorodiethyl ether C4Cl2H8O

〈Z/A〉 = 0.51744

E [GeV] bbrems bpair bnucl btot

2. 0.4134 0.1899 0.4531 1.0564
5. 0.5620 0.4669 0.4806 1.5095

10. 0.6835 0.6942 0.4672 1.8450
20. 0.8102 0.9364 0.4466 2.1932
50. 0.9799 1.2801 0.4239 2.6840

100. 1.1047 1.5197 0.4128 3.0372
200. 1.2217 1.7409 0.4073 3.3698
500. 1.3588 1.9590 0.4066 3.7243

1000. 1.4454 2.0840 0.4131 3.9426
2000. 1.5161 2.1752 0.4240 4.1153
5000. 1.5854 2.2538 0.4443 4.2836

10000. 1.6217 2.2909 0.4647 4.3773
20000. 1.6474 2.3143 0.4887 4.4505
50000. 1.6683 2.3331 0.5263 4.5276

100000. 1.6782 2.3407 0.5584 4.5773


